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ME R K I CofZEhR t=15cmATF 1.200 x 2 + 1.200 x 4.800 m
HERBRI As-CofZERR t=10cmA T 1.200 x 1.200 1.440 m
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X L = 4=
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T EE & A byi—xT (¢ 150) & %® kR 1] W AsEhZERR t=15cmA T 13 =S 1.300 m
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: s HEREIBI ETHRE BRARE50cm HRARAESE 1.200 x 1.300 1.560 m
g ms e
s _ i $%REEI FEEE 55T (33100 BEAEE WK1, dn F2EAs (FAKISRBEHITA) 1200 x 1.300 1.560 i
- Domemm [ 08
§ ; BZEMXREIBI ER BEBHZE XRE2 Om(GEAIERE1. 80mELT) 1.200 + 1.300 2.500 m
“lg P - ITHERT (RE) Re~EES -2 | 15 EREEL 2o 2161 m
- v R )
2 3 THERT (RE) RESER REL +8 1459 = 0.90 1621 m
b ! THERT (RE) EES~35 =20 | £F BRI 2kn 1.459 + 0.90 1.621 ni
g 1.200




FX3 L = 4=t
V7514 B iz * T A =1 g
T EE & A byi—xT (¢ 150) & %® 3 Ul W AsEhZERR t=15cmA T 13 =S 1.300 m
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EEEEE FAREISZSCE ) % % B (% 7B B) | HEENe HERE STHBERE | 020 m
T myxsszs1 =T | % % & @ B (R % % ) | 59T (Fs5om B W1 dn FaAs (FAFREMRA) 2| & % £ & | 0050 m
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L | fEEE TS ARy (REET) @ EREB (% 7B B) BEHEE20cn BERE (7 4 L5 —E5enS) EITBBEE 0.200 m
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